0002060639397999

20O HEXFAY @ o>

9015 45 FIZEHE 5 4 14 @
Bk
L neamse 5. GEABEFRESENSA>TWBRNE, £5 AR L, 2 BThrbs ity
Taiie n @ ETE %, EEAEBERIHEE b, L4, FFEL, 0REREEXS.

(1) P+t = DPn THRHYE.
(2) 85 {pn}t O —fIEZ KD X
(3) KB lim py % Kb &.

M Nt1EHExv 1T, BE n1& 2B A 3012,

{nmnmu BEWAREIE — n+1EB M RE

¢ F#E — nt1BEMNEE
nuUuTRTZaT,

= &
npn'f'!"Pn'Ef'(!“Pn)';g" PHT1=§{“Ph+3'L

@ puri=f = £(pa- %)

BT Pt} 3 ank -4, Lret o i

. B 2 .
Pizig= % vhans pi-4=%
Pn"-": .‘L .[_n—l __f_ !
Z 6 (3) Pﬂ" 2+2.3n
3) (2) &Y.

lim = fim (1. =L
n%WPn n-wo(2+ ' )




